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(i) The weight assigned to Ksspa equals D — A . The specific risk-weighting factor is

equal to:

= o]+ [ ko]

(d) SSFA equation. (1) The [BANK] must define the following parameters:

SRWF = 100 ~[(f§§

K, =(l-W)-K;+ (05 -W)

I = max(4 — K,,0)
¢ = 2.71828 | the base of the natural logarithms.

(2) Then the [BANK] must calculate Ksspa according to the following formula:
K _ edu_ eal

SSFA a (l 11 )
(3) The specific risk-weighting factor for the position (expressed as a percent) is

equal to Kssra % 100.



